1. a)b)

Automat A = ({q¢, 91, 92, 93, 94 95, 96,1, 10,1}, {0,1}, 8, 4, q¢)
o,

0 0 1 0 1 0 1 1 0
0 0 1 1 0 0 1 1 1
0 0 1 1 1 1 0 0 0
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Zustandsiibergangstabelle

Zustand m=0 |m=1




Sy S5 |S12
Ss Se |4
Se S7 |57
S7 Sg  |Ss
Sg Se |50
59 510 58

b)
frrs (M, X3, X2, X1, Xg) = X3X5 V X3X1 V X3X0 V X3X2X0 V X3X2X1Xg
fr2(M, X3,X5,X1,X0) = MX3Xy VMXX, V X3X3X0 V MXXy V X3XX1 V MX3X1X0 V MX3X,X V
Mx3X,X1 V X3X5X1 X9 V MX2X1 X
frr (M, X3, X2, X1, X0) = MXpXo V MX3xq V MX X0 V MX X V X3X1Xg V XXX V MX3X1 X V MXpX1 Xy V
mx;x; X
frro (M, X3, X2, %1, X0) = MXg V X1X VMxq
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